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General Instructions :
(i) This part has 36 questions in all.

(ii)  All questions are compulsory.

(iii)  Questions from serial no. 1 to 16 are Multiple Choice Questions
carrying one mark each. These are to be answered by writing the
correct option in your answer-book.

(iv)  Questions from serial no. 17 to 32 carry 3 marks each. Answers to
such questions should not exceed 10 words.

(v)  Questions from serial no. 33 to 36 carry 4 marks each. Answers to
such questions should not exceed 150 words.

(vi)  Attempt all parts of a question together.

Treferiaa @ S faam e ? ]
(31) 5% @ 9 HEM o forg o

(&) 49T = Fiee

(w) o sfufed

(8) Tohg 5|1

Which of the following is a long term finance ?
(a) Loan from Bank for 9 months

(b) Issue of shares

(c) Bank overdraft

(d) Cash credit

feaffEa i e emaa s T @ FN HE AT S ? 1
(37) TETSH =1 0 () =g =T

(") == F (3) 39St A

Which of the following is an owned fund as a source of finance ?

(a) Mahajan’s loan (b) Loan on mortgage

(¢) Bank loan (d) Issue of share capital

3 [P.T.O.



35/1

FOET 1 e A Ea g

(1) Trsft et = () |G ISl w1
(|) wTeiert %9 (3) HEwr wfifaal =
Issue of debenture is a source of finance for :

(a) Private Ltd. company (b) Joint stock company
(c) Partnership firm (d) Cooperative societies
fr=fafea 3 @ o = saf Fa s a2 ?

(31) =orgEt & i (F) = fasm

(@) w3 fa. 3. a=m (z) wfgeria sma

Which of the following is an internal source of finance ?

(a) Issue of debentures (b) Public deposits

(c) Loan from LLF.C.L (d) Retained earning

FTfera o @ el TR wrEa R E g ?
(31) urdr faem o & R0

(@) s+ fgy

(@) =woraEi &1 fie

(3) = Afafasd

Which of the following is a source of short term finance ?
(a) Loan from Development Bank of India

(b) Public deposits

(¢) Issue of debentures

(d) Bank overdraft
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ey Teafor us SR & 5E - 1
(37) Sheiet o 911 1 HA-TaFA BT T,

() et qaifeer 39 1 %4 - fasd 2T 2,

(@) =mrafEt s fasgfeai =1 s -faga gar g,

(=) et o 7 - S B

Stock exchange is a market where :

(a) Only equity shares are bought and sold,

(b) Only preference shares are bought and sold,
(c) Securities of companies are bought and sold,

(d) Only debentures are bought and sold.

U Tsft eraet it ekt ot Hedi @ 1
(1) I et i 379 i g

(@) =ugs fFeiea g

(@) i e AT sfogan @ =0 e

() a1 ey =ier =

A Private Ltd. Company can collect capital through :
(a) Issue of shares to its members

(b) Issue of debentures

(¢) Loan from Reserve Bank of India

(d) Accepting deposits from the public

Feafafa i @ e e mFRwm e 7 1
(31) s =6t a=ff () fafma famm '
(®) e T 34 1 Wi (3) T ofo

5 [P.T.O.



10.

11.

35/1

Which of the following is a negotiable instrument ?
(a) Payinslip

(b) Bill of exchange

(c) Cash memo of goods purchased

(d) Proforma invoice

S 37T TS b1 Gl Sl & W ST WEH A & -

(31) =T @A W (@) ==d @a W

(|) *73 S @ W (3) T8 o= @1 W

The banks allow interest at highest rate to their customers on :
(a) Current A/c (b) Savings Bank A/c

(c) Fixed deposit A/c (d) Home safe A/c

US =% Sl 1 HE 2012 @1 fitea T mn, o W ari@ 1 1 2010 3R g,
39 e :

(31) oFa == (9) AT

(/) qa-feqifera 9= (3) I-TeAiTend =

A cheque issued on Ist March 2012 and bearing the date 1st March 2010 is
called :

(a) Mutilated cheque (b) Stale cheque

(¢) Ante-dated cheque (d) Post-dated cheque

TrefcTftad | ¥ T aTuifsge: s 1 5d1as Sh R are 7
(37) AT SR T

(3) i

(®) Tarf-m= o= =l 92 9 A

(3) FOE
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14.

Which of the following is a secondary function of a commercial bank ?
(a) Accepting deposits

(b) Agency work

(¢) Discounting bill of exchange

(d) Granting loans

U o S <o H g i WA TE et afesh qiTaT greeRdl & @ o

ST foRa ST 8, e 2 1
(37) @me = (3) U =%
(@) TEifra =9 (3) Torpa =k

A cheque which 1s not payable on presentation to the bank but credited in

the account of the payee is called :

(a) Order cheque (b) Bearer cheque

(¢) Crossed cheque (d) Mutilated cheque

TTEeR! 1 T8 @ =l WieA W s T i gl v wd €, 39 1
(37) T8 T @I FEd & (F) ToTé ST T FEd B

(W) T ST @Il hed & (2) Teamiin @rar #ad 8

The customers can avail the facility of overdraft in case of opening the :

(a) Home safe A/c (b) Fixed deposit A/c

(¢) Current deposit A/c (d) Recurring A/c

TR G S W §9AT ST A % e i # w1 aredt =i A fa e 1
(31) wA et wrd

(@) 9-za-feequ

(") wéium.

(7) =

7 [P.T.O.
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A leaf by which the customers deposit their money in Bank is called :
(a) Withdrawal form (b) Pay nslip
(c) ATM (d) Cheque

feffaada s wds ya s F=a g% 2 7

CIREIEENESEED () TARER 9F
(@) o oo 31 sfea (z) sew

Which of the following is the central bank of India :

(a) Punjab National Bank (b) Allahabad Bank
(¢) Reserve Bank of India (d) Dena Bank

ora yo 10w S e gEd v B o | it ufin 5 e e safe
o1 T8 3T foRET 8 SHR! T o 3T 2 B, IUHEA ©

(a1) Fe ez gree () =

(®) % (@) R

An instrument through which one bank directs to its another branch to pay
a certain amount mentioned in it to the named person is called :

(a) Bank demand draft (b) Endorsed cheque

(c) Cheque (d) Bills of exchange

U 499 & ToTu weagentea fam & i @ a & &1 gesi fiega g
=T i |

Explain in brief any three factors determining the medium term finance of a

business.

(i) ST ST QAT RIS a7 (i) 59 &l i 98 § geesd |

Explain briefly (i) Ploughing back of profits and (ii) Public deposits.



19. 3791 =1 gftarfi SHfse qen goar 37w 6 ol 91 el = = men fifv | 3

Define shares and explain any two characteristics of equity shares.

20. A o TR € e i e aret feeeel e el 5 aeened | 3

Explain any three benefits of issuing debentures to the company.

21, =y faufon o ot i srferd qeon i s Fifsa 3

Explain any three essential features of stock exchange.

22. (i) ATIOTISeR sahi QT (ii) TN sSR! ol T&Id | TS | 3
Explain in brief (1) commercial banks and (i1) agricultural banks.

s r

23. {512 &S YT hise FIe FTald ¢ © 3

What are debit cards and credit cards ?

24. =TS WIS 1 AT FT BT 7 39 @I o A § i § ST arelt QI ao
i<l 3 =1 sard g 3w i aqarsd | 3

What i1s meant by current account ? Explain the names and uses of the

books and slips used in operation of this account.

25, 3719 U S O H s s @il o YR @ier & giEiferd sar| 3

How will you open and operate a saving bank account in a post office ?

26. o st & foredl i sremont < samen s | 3

Explain any three features of exchange banks in India.

35/1 9 [P.T.O.
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SferT 9T R 7 U S & IS ol GTHT 1 I gHee |

What is banking ? Explain any two general functions of a bank.

S GIYC FT & 7 Teh Aok ol 3TUET 5% 19 I [ohd BT 1A i 399 &1 el
ST 2 7 wHs |

What is bank draft ? Why does the payment made by a bank draft

considered better than the payment made by a cheque ? Explain.

fafma v 7 2 7 fatwg o 1 sl = fawransti =61 say |

What is a bill of exchange ? State any four characteristics of a bill of

exchange.

e gUet au Ufagas | &iE i s S |

Give any three differences between hundi and a promissory note.

ek ok o LETeh a1 J=H B fohedi di9 sr=asel o1 suren shifsi |

Explain any three differences between crossing and endorsement of a

cheque.

U foe o fornfoator ) g =1 3 e Ba 2 ¢ el e 3T feReRr 3
HTEIYEF B 8 7

What is meant by the notice of dishonour of a bill 7 When is it necessary to

give it and to whom ?

A 1 H219 S a1 Uk AT 9 F 15 IR 2= a1 |

Give any four differences between the central bank of India and a

commercial bank.

10



34, wEHL (i) gerIad 9 (i) JouER une (i) T w1 faregd g (iv) SR

feam | 4
Explain (i) accommodation bill (ii) holder for value (iii) dishonouring of a
bill (iv) days of grace.

35, syl AR 3 Frsh % wee ) auened | (1 9R) 4

Explain the importance of borrowed capital in modern business. (any four).

36. Uk =aEE Fl 9 ¥ U 99 ¥ ®9 § SHEAT § g 9ol el 9 ot @
e | 4

Explain clearly any four advantages of public deposits as a source of

finance in a business.

(i) TEETAT AU HE T o A
(ii) ELEMENTS OF BOOK-KEEPING & ACCOUNTANCY
fAeifta awg : 3 592 ] [ 3feraaT 37 : 80
Time allowed : 3 hours ] | [ Maximum marks : 80

AT 4397 :

(i) UMY HA 32T E|

(i) G g A &

(iii) S HEAT 1 G 16 T% Tgladedid ¥97 £ 5 YeF U 3% 1 ¢l 74 W
forreyt 4 @ T8 faoq i IT-Yiere & forgar 81

(iv) UHTHS G T uF qg g F 2|

GENERAL INSTRUCTIONS :
(i) This part has 32 questions in all.

(i)  All questions are compulsory.

(iii)  Questions from serial no. 1 to 16 are Multiple Choice Questions carrying
one mark each. These are to be answered by writing the correct option in
your answer-book.

(iv)  Attempt all parts of a question together.

35/1 11 [P.T.O.
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fafermg o3 dam R st &

(31) SHERF (F) FFRRER

(|) =% g (3) == yTehal gl
Bills of exchange are prepared by :

(a) Creditor (b) Debtor

(c) Bank (d) Endorsee

& faer =t e fafy @ qd =92t ) amw fman ST @ @ Jae STHeRdl sl
T H @i o ATH foR ST 2

(1) v fawa @ran
(F) The AT ad1 F2idt @
(§) e e a1 g2 (<7ET) @

(3) Hae Vg Wl

While retiring a bill under rebate the accounts to be debited in the books of
the payee are :

(a) Bills receivable A/c

(b) Cash A/c and rebate A/c
(¢) Cash A/c and discount A/c
(d) Only cash A/c

e W W AT Y T o faween €1 St 2 | steh sht giden 1 7 foran s
£

(37) Wi & (¥) sE®*

(@) ura faua = () @R H

When a discounted bill is dishonoured, the A/c to be debited in bank’s book
is called :

(a) Drawee’s A/c (b) Drawer’s Alc

(c) Bills receivable A/c (d) Bills payable A/c

12



4. = foa w el A fafa 1 59, 2011 B, o 3 wdR & fom 21 ymam i

Tator g - |
(37) 1318 2011 (&) 2.3 2011
(|) 33e 2011 (2) 4 3T 2011

The date of acceptance on a bill is 1st January 2011. The bill is for a period
of 3 months. The date of maturity will be :

(a) 1st April 2011 (b) 2nd April 2011
(c) 3rd April 2011 (d) 4th April 2011
5. fafmg o g & v 5@ e o =1 srd fEar st @ a9 Feema e 1
(¥7) T THeRAl EIREEIERIEET]
(|) iR wat (3) @

In the case of bills of exchange, the party which is ordered to pay the
amount is known as :
(a) Payee (b) - Endorsee

(¢) Drawee (d) Drawer

6. @M I 9,000 T oA H1 Wi ATETG ITAM F fow =mm & e sm

B : 1
(1) forshl @ma & (3) FEwEE
(W) smewrEe (3) FERH

Goods worth ¥ 9,000 taken out by the proprictor for personal use, be
credited to :

(a) Sales A/c (b) Creditors A/c
(c) Drawings A/c (d) Purchases A/c

35/1 13 [P.T.O.
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Faf @ S aaue 3 ez ger | w2 39 foufa-faemo 9 fomar smam:
(=7) TrafEt o (%) Ferft g
(@) forelt 1 oft 7 (z)

Suspense A/c given in trial balance showing as credit balance will be
entered in the balance sheet :

(a) Assets side (b) Liabilities side

(c¢) None of them (d) Both of them

e F 5000 T 3 AT T Al TG FE H AN I0F AfRETG @ F
Tm A R ot TR uE g R

(=) =i gl () o e

(@) Herf=s (3) afoge

¥ 5,000 paid to Govind for repairing an old machine, debited to his personal
A/c, 1s an error of :
(a) Omission (b) Commission

(c) Principle (d) Compensating

Te QX 2TE9ETeT HefiA ST raterd H v g8 oft, 3 4t 7 | @ S g -
(37) " = (F) S
(@) o= (3) ZTEWIEAFH

Sale of an old typewriter that has been used in the office, should be credited

to:

(a) Machinery A/c
(b) Capital A/c

(c) Sales A/c

(d) Typewriter A/c

14
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foRran 6,000 % = yrraE =i gfaf® R @ = 5w 1 3R 5,000 T § 6 TE

Y& Wi | foRran @it ATy g =el : 1
(1) 1,000% | () 11,000% 4
(@) 12,0003 9 () 3w 9 i g oft =)

Rent paid amounting to ¥ 6,000 was credited to Rent A/c with ¥ 5,000. In
rectifying entry rent A/c should be debited by :

(a) 1,000 (b) % 11,000

(c) 12,000 (d) None of the above

aret g amaeft 58 9 100 T %0 for@ | 3R guw wfafe 4 fow aro @

Eaf 1
(31) 200 ¥ S =t @) 100T B et
(|) 300Tafe (2) 3IT @ foreht @t 9 R

Sales return book was under cast by T 100. In the rectifying entry sales

return A/c would be :

(a) Debited by 200 (b) Debited by T 100

(c) Debited by 300 (d) None of them

TITE grafeal | AT S T 8 - 1
(21) Aifas Z2-F2 ® (F) AR g § FHl 3T |

(|) sro=ferd g S @ (7) =78 T A

Obsolescence arises in fixed assets due to :
(a) Physical wear and tear

(b) Fall in market value

(c) Becoming out of date

(d) None of these

15 [P.T.O.



13.

14.

15.

35/1

B oA = et e vgfo g g e 2 g A g
(31) ufad s 2 (@) e Tt &
(@) s Tl 2 (3) = & =rE AE

Under diminishing balance method of charging depreciation on assets, the
rate of depreciation :

(a) Increases every year

(b) Decreases every year

(c) Remains constant every year

(d) None of these

U 1T ol @ o A SR a2

(37) ofeer () o=

() &= (7) TR
Reduction in the value of a coal mine is called :

(a) Amortisation (b) Obsolescence
(c) Depreciation (d) Depletion

UF HIH 1 S 2005 F 10,000 T H 9 I T G G99 o 1000 3
AT YA ST 5 @ o1 | g o st el T vefa @ meied @ g
1.1.2007 = 379 2171 -

(37) 8,200% () 8,000%
(¥) 10,000% (3) 6,400%
A machine was purchased on 1st January, 2005 for ¥ 10,000. Scrap value

¥ 1,000. Useful life 5 years. As per the straight line method of charging

depreciation, the balance on machinery A/c as on 1.1.2007 will be :

(a) ¥ 8,200 (b) 8,000
(¢) T 10,000 (d) T6,400
16



16.

17.

18.

19.

BT 124 2 el T ugfa ® gre o iy ad e A - |
(1) Tt @ (&) =i
(|) =g ufteey &t gran (7) 378 @ h1g AE

In straight line method of charging depreciation the amount of depreciation

year after year :

(a) Increases (b) decreases
(c) Remains unaltered (d) None of these
e fafom o3 3 gl =1 e o geEed | 3

Explain with examples the parties of a bill of exchange.

Ue TehRERdl S Qe § e awEl ) Fn et gl ? sehE 3
(31) haeh =1 forer W et Te e fomar s 2|
(=) < foret =1 wagd =t ot (feale W) sy =6 fo <imm &)

(@) 99 oiEs A foa =1 9% 9 Fxdt U foran o1 g gitemar fiaw w3
STERE B SR |

What journal entries will be made by a drawee in his books when :

(a) A bill is returned to the drawer after giving acceptance.
(b) Bill is paid before due date availing the rebate.

(c) Bill was discounted by the drawer and on due date it is dishonoured.

1 S, 2012 31 T 5 741 % 8,000 T oA = WIS 1 (ad fopar| 36 7
I A A F 34 R F 3 7 & o for@ o fee woereh et @ @
TffeTERal <t gEehi B TSt grafdat s -3

On st January, 2012 Anna sold goods to Banna worth T 8,000. On the
same date Banna accepted the bill drawn by Anna at 3 months for the
amount. On due date Banna met his acceptance, Pass the journal entries in
the books of the drawee.

17 [P.T.O.
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g 3Tepfeeat R Bt 2 7 U eTfad % whrs 4 Iere i |

What is meant by the errors of omissions ? Give any two examples of such

CITOrS.

vt foreel o srerfet % ereror SifTe formes st aerde o6t A ST § He AE

rdr |

State any three examples of errors which will affect the agreement of tral

balance.

T4, ffieor qen aftenes = 31ef 3erewr 3o ansEsd |

Explain the meaning of depreciation, depletion and amortisation with

examples.

grafedi W g e & Bl oA ereron =t gey o guesed |

Explain briefly any three features of charging depreciation on assets.

1 30, 2010 = Heh faf. ¥ o weE 5,00,000 % # F H| 3aH
AT SfaaRrel 5 9 97| 5 9 a8 SIgETHG 218909 Jed 50,000 T 97 | T
forea v & s1ger witad wms-= @ 3 forelt s areft g St T s ToE
i qen wiad g e A g oft o iR '

Meenakshi Ltd. purchased a machinery on 1st April 2010 for ¥ 5,00,000
whose life was -expccted to be 5 years. Its estimated scrap value at the end
of 5 years was ¥ -50,000. Find the amount of depreciation to be charged to
profit and loss A/c every year as per fixed instalment method. Also

calculate the rate of depreciation to be charged every year.

18



25. U ©EE ZF1 A o fore a9 e sl i Wi 9T F A % SR T

TEE FE0] %1 IS S Hehdl & ¢ 38180 Higd SHeiEd | 4

What possible steps may be taken by a drawer after drawing a bill and

getting acceptance of the drawee. Explain with examples.

26. TS gfafEEl 6 gerar @ et swiiedt ® S i : 4

(i) Tl grn 3 fore =gt R w5 T 5,000 T w1 ST ST %
ATH ST T T |

(ii) SR T HEAR Sl G Fm1 T 10,000 T 31 A5 36 ARETT BT
% A ¥ formn man |
Rectify the following errors through passing journal entries :

(i) The proprietor spent X 5,000 in purchasing a watch for himself, but the

office equipment A/c was debited by this amount.

(1) Salary paid to Daya Ram an employee ¥ 10,000 was debited to his

personal Alc.

27. SR Higd Sargd o6 Fefeiaa ae & 3 o - 4
(i) afs T U W U I SHIGd 8 AT 8 a1 I UTeek o 7 | forar S 7|
(i) T A e =S R afd O ok @ | ST e |
(iii) =2 = arfud ford gu mTe ot wiaf® 3ues @ & s &t st |

(iv) T HEERI o STHTd 39T o fae e 72 are it gfafs 3o =ted
G % 9 3 R

State with reasons whether the following statements are correct or

mcorrect ?

(1) 1If a cheque received from a customer is dishonoured, it will be debited

to customer’s A/c.
(11) Interest received from Rani will be credited to Rani’s A/c.

(111) Goods returned to Dhyey will be credited to his account.

35/1 19 [P.T.O.
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29.

30.

31.
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(iv) Goods taken for personal use of an employee will be debited to his

personal A/c.

IaTetvT |fed UHl =R it sared &1 o aave g1 vehe 781 ikl 2

Explain with examples four types of the errors which are not disclosed by

trial balance.

Tt T = ori = famanett =51 393

State any four characteristics of a bill of exchange.

Fraferifiaa SRt = fore wen i gereet © wfafat Sifs
7 Y Tiepfa S U % 9& F off 91 S 5,000 T FH oft, 1 Fr@wor 2000 ¥
The YT 319 % 7T 300 T =41 wigd 78 wigta o o |

Journalise the following transactions in the books of Radha :
Krishna’s acceptance to Radha for ¥ 5,000 was discharged by a cash
payment of ¥ 2000 and an acceptance of a new bill for the balance plus

interest ¥ 300.

feifera srggfeat 1 gfge Sifsu -
(i) =g 9Tt| 300 T o1 oieEn =igT & m @re & T foran )

(i) ferfues =1 e TR T3 a9 35,000 T T ST 3ok SATHITd @A H T
e

(iii) 37ST AT 4000 T = YA T @1 30 T 5 fomam 717 |
(iv) 3797 i 1700 T 5 IUT 0T 9559 1 @1 396 597 @ 1 fomam mam |

Rectify the following errors :
(i) Discount received ¥ 300 was posted in discount allowed Alc,
(1)) ¥ 35,000 salary paid to clerk stands debited to his personal A/c.

(iii) An amount of ¥ 4,000 paid against salary outstanding posted to salary
Alc. '

20



32,

fAgis =27 : 2 902 |

Lpd
LA

(iv) A credit sale of goods to Ashok for ¥ 1700 was posted to his credit
Alc.

1SS 2006 31 WHR A 1,00,000 TR 6T BT B BRATI 1 SRS 2006 H
ST FAEE 20,000 ¥4 21 Y A1 T 30 S 2008 1 SHEE 2006 H
7 T34 TATI & STET 9T 30,000 T4 H &= fem wan | S ) 10% gfaad
WITE geg W I W1 @ adl @i Sfdend 31 fwer o aw wia 21 3
2006, 2007, 2008 LT 2009 1 BeX GTA] dIR i |

On Ist January, 2006 Shankar purchased furniture worth ¥ 1,00,000. On
st Julv 2006 he bought additional furniture for ¥ 20,000. On 30 June, 2008
half of furniture purchased on 1st January 2006 was sold for ¥ 30,000. The
depreciation is charged @ 10% per annum on furniture at original cost
evers vear. The Alcs are closed every year on 31st December. Show

furmiture A/c for the years, 2006, 2007, 2008 and 2009.

(iii) Zeror (Rrgra) sitsht /fe=h

. 391 :

(i) FEHFE FCT 11 T 8| Gt 39 a8 |

(ii)  NoF F 3 ¥ F G leu 1 #

(iii) 5% G 1 8 5 TF % T Y97 | 3F % 8/ 57 Je1 % I 0F U5 &
e A1 7F & GFhd & |

(iv) T =T 6 T 10 7% T §o 2 bl & &1 37 Jel 8 § ToAF F TN
60 YI=31 T 37185 &1 271 T12u| -

(v)  H999EA7 11 T 39T F16 U992 | 39 U9 T 39 120 sl @ 37fere 7

g1 =TT |

21 [P.T.O.
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10.

1.

35/1

L T W J Gar & Tolu IwnT ¥ 27 ATl a%g &1 A Fa7sd |

TGS e THT 3952 1 Uk 37 92 L {1 ST 2 | 39 357 =7 979 =d15d
58w fopar ST 2

e emee % T fohe o e Teka =1 STEm B 2 7

T e AR A L o for g w geies wha 1 wEE e s R, 3
#ifor |

.. 91, %1 Ol B e |

Vel TR 9T B8R A o fau 3uFi § W 916 3957 =1 978 Farsy a9
TEm T geed T a9 s W S w2 7

Loe F1ed 999 waH § T4 9Tl =gl 31 =] <t 9a1s0 |

Fefafaa form-fegl & ama € yget 921 oe 3 918 2150 590 952 919 fhad
T B ?

(i) 352 f9% (ii) = g (3merd)

Frafafad = foru yafa gar sy fofas
(i) 9794 (i) Toawa (iii) =i (iv) o -9 aHi-a |

Sfrer 4 aon SRt o 2 T T B A w

F=SE T B 7 379 T B 7 2039 A g9 SIS oA 1 91 = TR
U |

Fg=
Y ZEURTEIET ¥ 71 U Y[Ea1 fohe TR W 3 Hohdl &

22



(iii) Typewriting (Theory) English
Time allowed : 2 hours | [ Maximum marks : 20
General Instructions :
(i) This part has 11 questions in all. All questions are compulsory.
(i)  Marks are indicated against each question.

(iii)  Questions from serial number 1 to § are of 1 mark each. Answer of these

questions may be from one word to one sentence.

(iv)  Questions from serial number 6 to 10 are of 2 marks each. Answer of

these questions should not exceed 60 words each.

v) Question serial no. 11 is a long answer question. Answer of this question

should not exceed 120 words.

1. Name the item used‘for carrying out the correction on stencil paper. |
2 While cutting a stencil, one part of the type-writer is switched off. Name

the part switched off. 1
3. Which proof correction symbol is used for ‘insert colon’? 1
4. Give the proof correction symbol used for inserting ‘do not begin a new

paragraph.’ I
5. Give the full form of C.LF. 1
6. Name the instrument used to sign a stencil paper and explain in brief how

do we use it ? 2
7. State any two precautions which you will be keeping in mind while cutting

a stencil. 2
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10.

11.

How many spaces will you leave before and after the following punctuation
marks while typing :

(1) Inverted comma (ii) Apostrophe ?

Give standard abbreviations for the following :

(1) Post statement
(11) September
(111) Signed by

(iv) Errors and omissions expected

Stencil pen and stencil plate both are the supplementary to each other.

How ? Explain.

What is paragraphing ? Explain in detail the method of paragraphing in
typing.
OR

- How can you achieve speed and accuracy in typewriting ?



